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4.126 through 4.128 The couple M is applied to a beam of the cross section

shown in a plane forming an angle § with the vertical. Determine the stress at (a)
point 4, (b) point B, (c) point D.
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[image: image2.jpg]Problem 4.129 4.129 through 4.131 The couple M is applied to a beam of the cross section

M= 10kip-in.

shgwn in a plane forming an angle £ with the vertical. Determine the stress at (@
point 4, () point B, (c) point D.
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[image: image3.jpg]4.133 and 4.134 The couple M acts in a vertical plane and is applied to a beam
Problem 4.133 oriented as shown. Determine (a) the angle that the neutral axis forms with the
horizontal, (b) the maximum tensile stress in the beam.
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[image: image4.jpg]Problem 4. 136 4.135 through 4.137 The couple M acts in a vertical plane and is applied to abeam
oriented as shown. Determine (a) the angle that the neutral axis forms with the

horizontal, (b) the maximum tensile stress in the beam.
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